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SCIENCE

1.In KMnO4 molecule, the oxidation states of the elements potassium (K),

manganese (Mn) and oxygen are respectively

KMno 3707 #, 9ieRIT# (K), Hateliet (Mn) 3R 3iTereiiotet cedl s 3ifereiientor

37ITATT HHT: §
(@) +1,+5,-2

(b) +1,+7,-2
(c)0,0,0

(d) +1, +7,0

2.A gas is evolved when a piece of zinc metal is placed in dilute sulphuric
acid. What is the gas?

T fier 7] T Ueh gohsT o] HoUrgReh UTAS 3 18T ST1dl § of T 3
Rrporelt &1 3 Fam 2

(a) Hydrogen

(b) Oxygen

(c) Water vapor

(d) Sulphur dioxide

3.In the reaction, ZnO+C— Zn+COQO, 'C' acts as a/an

gfafshar &, ZnO+C— Zn+CO, 'C' Uh/Teh & T H hry T g
(a) acid
(b) base
(c) oxidizing agent




(d) reducing agent

4. Which of the following statements regarding oxidation and reduction are
correct?

3HTFEROT 3R 39T & HaY H Aealaf@d #§ & il O st Tgr g?

| .In oxidation loss of electrons takes place whereas in reduction, gain of
electrons takes place.

3TTFETRIOT H Solarclal T 8Tt Bl & STaTeh T H Solarclal ST ofTT T
gl

Il. In oxidation, gain of electrons takes place whereas in reduction, loss of
electrons takes place.

3TFHIRI0T H Solarclal ol T3 8IdT & STdTeh 3TITIT H SoleFclall ol &1 aidl
gl

[ll. Oxidising agent decreases the oxidation number but reducing agent
increases the oxidation number.

3TFHRIOT Toie HTFHTHIOT TEIT T hH HIdT & olfehe] hH el dToll Toic
TR 0T HEIT I IEIdT ¢ |

[V. Oxidising agent increases the oxidation number but reducing agent
reduces the oxidation number.

3TTFATRIOT ToiE JTFERI0T HET Sl ToTdT & olfohe] e &hiel dTell Toic
TR OT HEAT I hH HIAT B |

Select the correct answer using the codes given below.

(@) I and I

(b) Il and IV
(c) Il and llI
(d) land IV

5.An object is placed 10 cm in front of a convex lens of focal length 15 cm.
The image produced will be

Teh T 15 YHT Diehel olaTg o 3eTel ol & ATHeT 10 JHAT W 975 8| A fdie
ofa gl

(a) real and magnified

(b) virtual and magnified

(c) virtual and reduced in size

(d) real and reduced in size



6.0ptical glass used in the construction of spectacles is made by
TRA & [AATUT & G JiTCeehor T fohdeh SaRT ST ST 87
(a) flint glass

(b) crookes glass

(c) quartz glass

(d) hard glass

7.A ray of light travels from a medium of refractive index nlto a medium of

refractive mdexn If angle of incidence is (i) and

angle of refraction is (r ), then =—— is equal to

Waraﬁrwﬁwwmmnlmﬁmm@rmmn arel ATETH dah
T AT &1 AT It amor (i) 3R & 319adel o7 (r) &, ar 2L F el §

sinr

8.The principle of working of periscope is based on
IRERIT 3 T e 7 TR IR &

(a) Only reflection

(b) Only refraction

(c) Both reflection and refraction

(d) Both reflection and interference

9. If a concave mirror of focal length 10 cm is immersed in water, its focal
length will

e 10 YHT Blehol ofds &I Teh el GUUT UTell H ST ST, Tl SHehT Blehol
oIS glaf

(a) be reduced



(b) be increased
(c) remain unchanged
(d) change sign

10.Firefly gives us cold light by virtue of the phenomenon of
19T Tohd EEaT & TUR TR & 33T URMEA ST §

(a) fluorescence FfacITa

(b) phosphorescence THRCITTd

(c) chemiluminescence HfAfATHH

(

d) effervescence

11. If the temperature of a semiconductor is raised, its resistivity will
g7 7eATeI T dTIHT ST 8T ST aY SThT TfaRIeehdr 9¢ ST
a) increase

b) decrease

C) remains same

d) reduce to zero

(
(
(
(

12.Laser is a device to produce
I 3cUTEsT et dTell Ueh 3UhIUT &
(a) a beam of white light

(b) coherent light

(c) microwaves

(d) X-rays

13. X-rays are

(a) deflected by an electric field, but not by a magnetic field
faegd &1 gan faaifad g1ar &, ifchet Tahiar &1 SaRT w7e
(b) deflected by a magnetic field, but not by an electric field
JahI 817 G faatfire gl &, Aifdhet faegd &t gan s¥et
(c) deflected by both a magnetic field and an electric field
geehrT 819 AR faegd &1 et eanT faaifaa

(d) not deflected by an electric field and a magnetic field

faega &1 3N Yol &7 @R faatfie =gt




14. The mirror used for the headlight of a car is
I T ESATSE & [oIT AT HAT ST aTeAT SUIT &
(a) spherical concave / INTHR Jddel

(b) plane / AT

(c) cylindrical / SelelThR

(d) parabolic concave / WRadl & dddl

15. The human eye is like a camera and hence it contains a system of
lenses. The eye lens forms

AT 31 Uah e FT a8 & 3R 3afaT sHH o/ F U JoTTell 8lar g1 319
T ol SelcT &

(a) a straight or upright, real image of the object on the retina / If¢sIr oX
aeq Fr @l a1 e, ared s o

(b) an inverted, virtual image of the object on the retina / TT?FITQTHEDT I
31T, 3MHATE B

(c) an inverted, real image of the object on the retina / IfeaAT WX a¥d $r
3oI¢l, aredides ofd

(d) a straight or upright, real image of the object on the iris / IRATRT 9T
aE T WY J7 Areft, areaiae ofg

16. An optician prescribes a power = -0.5 D. The corresponding lens must
be

Teh HICERIAET Teh Tt fAUTRA AT 8 = -0.5 D. ol& g & 3HT&T glelr
Bl

a) convex lens of focal length 2 m

b) convex lens of focal length 50 cm

c) concave lens of focal length 2 m

d) concave lens of focal length 50 cm.

(
(
(
(

17. During sunrise and sunset, sun appears reddish- orange because
e 3R FATET & AT G oITol-AR_eN TEWTS ST § Fifeh

(a) during that time sun emits only reddish-orange light / 3 SR & hael
ITA-aTR3Y YehTel Scafold &idl &




(b) all other colors are absorbed by the atmosphere / 37T T3t ToT AgHS A
N Ay P}

CaRT AN o forw ST &

(c) reddish-orange light is least scattered by the atmosphere / ATeI-AR3

TS ATIHS ST H FEH e FehlTuTc Bl &

(d) all other colors apart from reddish-orange are reflected back by the

atmosphere / ATT-aARAT & 3ATaT e T T AFHS T SaRT IRrafeic 8t &

18. White light while passing through a glass prism breaks up into light of
different colors because

Tihe, Y1 T & e & ToRd THY fafdeet T & yeprer & fqafed g Sar
g Faifh

(a) refractive index of glass for different colors of light is different / Jehrer &
et 9T o ToIT ST T 3T9acIeTIeh 3TeTdT-37eT9T 81T &

(b) glass prism absorbs white light and emits lights of several colors in
different directions / T &T THH The YehTr ol ITTMWT HIdT § 3R
fafeesT feematt & &3 T Fr A2 3cafard aarg

(c) of total internal reflection of white light on surfaces of the prism / TO=H
T HAGT I HHG FhIRT & qUT T Reh Tealclel &

(d) of the interference of different colors inside the prism / =& & 37eX
fafdeet @1 & gEI&IT T

19. In optical instruments, the lenses are used to form image by the
phenomenon of

HifCeehel 3UHIOT #, o I IUANT fhH AT gaRT BT F11e & forw famar
ST g

(a) reflection (Jade)

(b) refraction (3T9dade)

(c) scattering (ShTOTeT)

(d) diffusion

20. When a ray of light is reflected under multiple reflections by a set of
plane parallel mirrors, then the intensity of the ray diminishes due to

SIS GehTeT I fh0T HATE HATATAR GUUT & Ush U GaRT Tanifaeh gfafset &
dgd rafd gich &, ar faor Y g o gy s &




(a) absorption as well as scattering of light from the mirrors / GOT & WehTer
T ITAVOT 3R FehToTer

(b) scattering of light by the atmosphere / dleJHSd GART YehIRA T YehToTeT
(c) absorption of light by the atmosphere / cllquSd GEIN EEaNE R CHIN ]
(d) None of the above / 3WRIFd H & FIS g1

21. Which one of the following is used to remove astigmatism for a human
eye?

AT 31T & TTSCATFY 1 G el o [T HAFATATET # & Fehdenr 3qiter
frar Srar g7

(a) Concave lens 3/@dd o ®

(b) Convex lens 3de oiF

(c) Cylindrical lens SeleAThR oid

(d) Prismatic lens eidfes of@

22.The nucleus of a singly ionized carbon atom contains
Tehol 3T eIcl Sleel AT & AT 3 gl &

(a) 6 protons and 6 neutrons

(b) 5 protons and 6 neutrons

(c) 6 protons, 6 neutrons and 6 electrons

(d) 12 protons, 6 neutrons and 6 electrons

23.A monatomic species that has 18 electrons and a net charge of 2-has
Teh A HAS Tl [aa 18 Felerciel 3 2- ol YCH AL BIell &
(a) the same number of electrons as a neutral argon atom

(b) more protons than electrons

(c) 2 unpaired electrons

(d) 20 protons

24 .Human stomach produces acid X which helps in digestion of food.
Acid X is

HoSg T 9 TAS Ty T 3G T g ST 3IsTel T TaT & Heg, Pl & |
(a) acetic acid

(b) methanoic acid




(c) hydrochloric acid
(d) citric acid

25.0ne feels heavier in a lift when the lift

forre st qoy safed = fode & #lide Agqa gl &

(a) is going down steadily / SRTIAR =i ST 3ET &

(b) just begins to go up / 31 FUT JATAT & %'34T g

(c) is moving up steadlly/ <‘~|?'I'IFI'ITEI'c.FQET%‘r

(d) descends freely / TadT 9 & 3T ¢

26.Planet A has double the radius than that of planet B. If the mass of
planet A is 4 times heavier than the mass of planet B, which of the following
statements regarding weight of an object is correct?

IE A 1 THS3T 718 B & JoI=lT A Q[T § | Ife TE A T GodATH Ug B &
e AT A 4 T[T T &, Fﬂ'ﬁw@'d{-d % gole] & IeY H [AeATa@d H & &l
T 2T T 87

(a) Heavier on planet A than on planet B / 9§ T 9T g & I defelt HARTE
(b) Heavier on Planet B than on Planet A / 31§ T &Y o= & IIg s 9T 3RT
(c) Same on both the planets / &1AT IGT I AT

(d) Cannot be measured on Planet B / 3§ &Y 93 HATIT sTal SIf HehdT

27.The acceleration due to gravity g for objects on or near the surface of
the earth is related to the universal gravitational constant G as (M is the
mass of the earth and R is its radius)
Wzﬁﬁwwmmﬁwaﬁraﬁaﬁ$mm$WWg
WWWWWG ¥ TR ¥ Fifh (M qedt T g AT § R
R 9T EE %)

(8) G =
(b) g =5
()M =



28.Mass of a particular amount of substance

gere T Ueh TaRIY HTAT &7 gedH Tl

|. is the amount of matter present in it. / STH H’?GIC\E qery I AT B |
1. does not vary from place to place./ STITE-1918 & THeoT Aol aidT|
lll. changes with change in gravitational force./ J&caTehyoT Sef # TR &
1Y 9RIdT gIdT g

Select the correct answer using the codes given below

AT T 97T IS T 3TANT F:leh Tl 3R Tl

(@), lland IlI

(b) Both I and Il

(c) Both Il and 1lI

(d) Only |

29. Specific gravity of silver is 11 and specific gravity of iron is 8. Which one
among the following is the approximate relative density of silver with
respect to iron?

I1ET o1 fAfrse Ir6ca 11 & 3R &g o1 fafrse Ir6cq 8 B fAefaf@d & 4 @l
maﬁ%%mﬂﬁaﬁmmmﬁm%?

(a) 1 4

(b) 0

(c) 3. 0
(d) 2

30.Suppose, we have an iron nail and an iron ball of same mass. When
submerged in water, then the iron ball may float but the nail always sinks.
This is because

AT NTAT, FAR 91T Ueh dllg T et 3 THTA GeTHTT I Ueh dllg FT 16 & |
Ui # STl Y olg T Il Tl X Hehdll § olfehel shicl AT 3o ST &1 TE &
Fifh

(a) buoyant force on the ball is larger than that of the nail due to their
shapes / 3¢ IR 3cCATde &ef 3eTeh 3TN o HNUT el i Jelell H 378 grer
3

(b) viscous force on the ball is higher / 3¢ WX T s« 3ifa+ §

(c) viscous force on the nail is higher / TG 9 faafdr oot 3ifere §




(d) gravitational force affects the ball differently from the nail / W@'UT
ScT 31 T STl T 37197 RE T THTTIT AT &

31. Which among the following is correct regarding

At & & i a1 @dr g2
Ne ,Na' , F_ and Mg2+?

20 A 19 24
(a) They are isomers of each other /d Teh GEX & 3TSHEIAYN §
(b) They are isotopes of each other / d Teh g&R & HHEAT S &
(c) They are isoelectronic with each other / d Teh @ & AU
SISl feleh &
(d)All of the above / 3RIad Tt

32.The number of valence electrons in the Oz_ion is
0° 3T 7 & SoiaerAT T TEAT &

(a) 4

(b) 6
(c)8
(d) 10

33. The high heat of vaporisation of water is mainly a result of
TTAT o ATSUIeROT hl 3T FSHT HET: hl IRUMH §

(a) van der Waals forces / d<T 3 aTed ol

(b) covalent bonds / TgddToTeh F4aT

(c) interionic attraction / SRS 3THYOT

(d) hydrogen bonding / eR3Tae 3TehyoT

34. 9. Which one among the following does not wet the walls of the glass
vessel in which it is kept?

fAFATIRId 7 & i AT T & FcleT FI GIART T I AGr Pl & [oTaH 54
3G ST 872

(a) Water

(b) Alcohol

(c) Mercury



(d) Phenol

35. Which one of the following oxides of nitrogen is known as 'anhydride’ of
nitric acid?
AT8eIoTe & e falad dFarssl & ¥ fhy T o1 Asfesh tlas &

'ud5|55|55' & T H ST SATAT 872
N,

b)N,,

c)N 0

)N

(a
(
(
(d

36.Which one among the following is not produced by sound waves in air?
fAefaf@d & @ @l a1 arg & eafey T garT 3cde<f w7gT T 872

(a) Polarization / g[dTeIoT

(b) Diffraction / RradeT

(c) Reflection / TRradel

(d) Refraction /379dcieT

37. The ceilings of a concert hall are generally curved

FleHC Blel T Tl 3T AN T FATGER &iell &

(a) because they reflect the sound to the audience / FaiR  gefehT @Y eafay
gfafsfad s &

(b) because they can absorb noise / Faifeh I 2N I HTWMVT HT Thd &
(c) to have better aeration in the hall /gTeT 7 S8R dTdel g1
(d) as any sound from outside can not pass through a curved ceiling /

Fifeh ATeY & s o eafel GATIEN Bl A 7T IR Hebell

38.Sound travels in gasses in the form of
eafer it 2 forer & 3 3 A 37

(a) longitudinal waves only / shddl BFI?:\LE'& agr
(b) transverse waves only / &hdel 3-139?21 agr



(c) longitudinal as well as transverse waves / 31@?\*22? IR 34?3‘9?21
s
(d) stationary waves only / dhdel T alar

39.An atom of carbon has 6 protons. Its mass number is 12. How many
neutrons are present in an atom of carbon?

hIeIel & Teh GHTO] H 6 HICTeT Bl 8. SHDT GeAHT TEAT 12 §| Hlelel o Teh
Wﬁmﬁwﬁmm%?

(a )12

(b) 6
(c)10
(d) 14

40.Light waves are

ehTr aXaT &

(a) electromechanical waves / faeged i3 T
) electromagnetic waves / ﬁa?z?r ﬂﬁﬁ'& SEC]

(b
(c) electrooptical waves / soicrclsﬂlbcqm SEEl
(

d) magneto optical waves / #HIaier 3iTfCeahol alar

41. Which one of the following statements is not correct?

fAFafaflaa & & Fia a1 YT T 81 872

(a) The Kelvin scale of temperature is called the absolute scale / ATIHTT &
hicdsd YATA ol [ATIET YHATAT gl ST &

(b) Visible light radiation has wavelength range of 400-700 nm / Sh1RT
faferzor shr aer §e H#AT 400-700 TATH §

(c) The capacity to do work is called power / RT et T &THAT T ATFd
gl ST &

(d) The wavelength of Gamma rays is less than that of X-rays / 3T fRIoTT
Y TR & TrE-Y BT Tl A A B

42.The phenomenon of photoelectric effect was explained by

ICIgelldrgeh THTT Shl TcaAT ol [hEeh GaRT HASIAT 31T AT?



(a) Bohr

(b) Einstein
(c) Maxwell
(d) Planck

43. Photoelectrons are emitted when

BleIgaele Scafold 8ld &

(a) a zinc plate is irradiated with light / T fSieh Tele ot Teprer & fafereiora
fRar ST &

(b) a zinc plate is subjected to high pressure / T [Sieh Tele 3T ga1d o
AT g

(c) a zinc plate is hammered / fSie Toe &Y g20i3 & ST STAT §

(d) a zinc plate is heated / Toiah Tol T 376 fhaT SATAT &

44. Einstein was awarded nobel prize for his

ITSEENT T Sefeh TAIT Aol REPR T FFATAT feham 1 a1

(a) explanation of photoelectric effect /BIcISelfdeeh TG T cITEaT
(b) unified field of theory / TREHT T ThIhd &

(c) general theory of relativity / |TI&TAT T ATATY AU

(d) special theory of relativity / ATI&TaT ST fay fRcwia

45. The photoelectric effect is based on the law of conservation of
ThRITAegd JeTTa fohereh TReToT o fgd o) 3R &

(a) angular momentum/ ofr arfa

(b) linear momentum / ¥f& a1far

(c) linear mass / YT gegaTT

(d) energy / Far

46. Cathode rays are deflected by

s foheor [aaiiia giar g

(a) Neither electric field nor magnetic field / & T faegd &1 3R o & qehrg
a7

(b) Both electric field and magnetic field / faeg &7 3R eIy &1 k=t

(c) Only electric field / shaer faege &



(d) Only magnetic field / el Jeehra &1

47. If the focal length of the biconvex lens is 25 cm, then the power of the
lens will be

afe saafeiel o Fr widd dars 25 AT §, aF ol Fr oIferd grfr

(a) + 4D

(b)-4

(c) + O 04D

(d)+0.04 D

48. To obtain the powerful parallel beams of light from a vehicle's headlight,
one must use

fohEY aTgeT T §SclTSC T ThTL T ATFARTel! THTATAR TohI0T ITCd el & ToIT,
SHPT 3TN el AT T

(a) front surface silvered plane mirror / T#e T g aﬁw GHT gquT
(b) back surface silvered plane mirror / 9ies &I @dg Enaw A gUoT
(c) concave mirror / 3/ddel gUuT

(d) convex mirror / 3de &9UT

49. The human eye is like a camera and hence it contains a system of
lenses. The eye lens forms

AT 3G Uah R T a8 & 3R safow sqa o/ g $r v Jotrell glar g1 3719
T ol SecT &

(a) a straight or upright, real image of the object on the retina / IfeaT @
aEd T Al 7 dreft, areafas ofg

(b) an inverted, virtual image of the object on the retina / %ﬁmwaﬁr I
3T, 3MHTE B

(c) an inverted, real image of the object on the retina / ¥fesT T a¥d fr
3ol arEdideh Bid

(d) a straight or upright, real image of the object on the iris / TRATRHT T
aE T WY 7 Areft, aredfaes ofg

50. During sunrise and sunset, sun appears reddish- orange because
e 3R FITEd & F7T G Are-aAeT G@rg &ar & F3ifs

(a) during that time sun emits only reddish-orange light / 3 GRTeT & shael
ATA-T3T YapTel 3cafold aldr &




(b) all other colors are absorbed by the atmosphere / 37T T3t ToT AgHS A
N Ay P}

CaRT AN o forw S &

(c) reddish-orange light is least scattered by the atmosphere / ATeI-ARI

TS ATIHS ST H FEH e FehlTuTc Bl &

(d) all other colors apart from reddish-orange are reflected back by the

atmosphere / ATT-aARAT & 3ATaT e T T AFHS T SaRT IRrafeic 8t &

ENGLISH :
IDIOMS
51. Weal and woe :

(1) Friends and enemies
(2) Be in danger
(3) Adversity

(4) Good times and bad times

52. Carry the ball

(1) Decorate the ball
(2) Be in charge

(3) Take the decision
(4) Be the hostess

53. Invent cock and bull stories
(1) Delightful fables

(2) Eco-friendly accounts

(3) Absurd and unlikely stories
(4) Credible tales

54. Leave no stone unturned
(1) Try every possible way
(2) Behave smartly



(3) Constructing
(4) Wasting no time

55. a piece of my mind.
(1) to be nice to him

(2) to take revenge on him
(3) to reprimand him

(4) to support him

56. a wild goose chase.
(1) fruitful hunting

(2) futile search

(3) ideal seeking

(4) genuine effort

57. Cut the mustard :

(a) Prepare spices out of mustard seeds
(b) To come up to expectations

(c) Making absurd expectations

(d) Very enthusiastic

58. Give someone enough rope :
(a) many directives and orders
(b) sufficient advice

(c) all the material they needed
(d) enough freedom for action

59. Couch potato

(1) An old person who has oldfashioned ideas.

(2) A person who prefers to watch television.

(3) A person who does not seem very friendly.

(4) Someone who stays calm and does not show their emotions.

60. Button her lip
(1) Tell us more



(2) Stop talking
(3) Invite us too
(4) Enjoy herself

SPOTTING ERROR :

61. He arrived (a)/ in the palace (b)/ to meet the king. (c)/ No error (d)

62. One of the most widely (a)/ spread bad (b)/ habit is the use of tobacco.
(c)/ No error (d)
63. A honest mistake (a)/ is no more than that; (b)/ just an honest mistake.
(c)/ No error (d)

64. The opportunity to attain foundational literacy (a)/ and pursue a honest
livelihood (b)/ must be viewed as basic right of every citizen. (c)/ No error

(d)

65. India's strengths are (a)/ its diversity of culture and (b)/ the spirit of
tolerance in it's people.(c)/ No error (d)

66. The students were awaiting for (a)/ the arrival of (b)/ the chief guest.
(c)/ No error (d)

67. They had promised to delivered (a)/ the bags before mid-March (b)/ to
enable us to inaugurate the shop. (c)/ No error (d)

68. India's strengths are (a)/ its diversity of culture and (b)/ the spirit of
tolerance in it's people.(c)/ No error (d)

69. (a) Molly speaks /(b) French well, / (c) isn't it? /No error (d)

70.(a) This is the old man /(b) whom I said / (c) had helped me. /No error
(d)



71.(a) The minister announced /(b) compensation for / (c) the victims from
the accident. /No error (d)

72.(a) The policeman prevented us / (b) from entering into / (c) the hall. /No
error (d)

73. The owner as well as (a)/ his servants (b)/ is honest.(c)/ No Error(d)

74. The leader as well as his followers (a)/ are fatally injured in the train
accident (b)/ which occured last night near this railway crossing. (c)/ No
Error(d)

75.1f | had known (a)/ this earlier (b)/ | will have helped him. (c)/ no error (d)

SYNONYMS :

76. The convict's INGENUOUS explanation brought tears in every eye.

(a) Candid

(b) Secret

(c) Insincere
(d) Consistent

77. Mark Antony's EULOGY of Caesar is finely recorded by Shakespeare in
his play.

a) Prayer

b) Honour

c) Praise

d) Denunciation

(
(
(
(

78. He is a MALEFICENT person.

(a) generous
(b) cunning
(c) criminal



(d) friendly
79. Many of his acquaintances avoid him because he is so GARRULOUS .

(a) unreasonable
(b) talkative

(c) quarrelsome
(d) proud

80. A wise manputs past RANCOUR behind and moves ahead.

(a) Dislike
(b) Hatred
(c) Division
(d) Criticism

81. The HOLOCAUST was experienced by millions.

(a) celebration
(b) destruction
(c) construction
(d) beautiful

82. This world is full of MISERIES .

a) indifferent love

b) perfect happiness

c) great suffering

d) moderate sympathies

(
(
(
(

83. Rakesh delivered a SLANDEROUS speech.

(a) abusive
(b) praiseworthy
(c) moderate



(d) Inspiring
84. The imagery used in the poem is VIVID .

(a) lively

(b) inert

(c) ebullient

(d) caustic

85. People have been connected by UBIQUITOUS mobile phones in this
century.

(a) cheap

(b) omnipresent

(c) modern

(d) sophisticated

ANTONYMS:

86. It appears that the whole group is MUTINOUS.
(a) Agitator

(b) Dissident

(c) Obedient

(d) Rebellious

87. Plenitude is one major cause for environmental degradation. (a)
abundance (b) insufficiency (c) ample (d) plethora

88. The whole audience showed a disdainful attitude during the match. A.
Sneering B. Respectful C. Mocking D. Mordant

89. He always offers palatable solutions. (a) acceptable (b) agreeable (c)
unacceptable (d) pleasant

90. BLEND the grains to make a smooth paste.



(a) separate

(b) mingle

(c) coalesce

(d) amalgamate

91. He had a FRUGAL lunch.

(a) sparing

(b) extravagant

(c) meagre

(d) delicious

92. . Language is an instrument for ASSERTING one's identity, attitude and
perspective :

(a) declaring
(b) supporting
(c) denying

(d) propagating

93. The poet said that poetry is a SPONTANEOUS overflow of powerful
feelings:

(a) prepared

(b) alerted

(c) deliberate

(d) well executed

94. . He is an INDUSTRIOUS workman.
(a) active

(b) productive

(c) lazy

)

d) disloyal

95. His FRAIL appearance was considered a merit.



E)RVEELS
(b) delicate
(c) sturdy
(d) big

96. She is a BENEVOLENT individual.
(a) clever

(b) muddled

(c) malevolent

(d) ambivalent

97. 34. The SERENE beauty of Kashmir had a soothing effect on his mind.

(a) placid
(b) pleasing
(c) tranquil
(d) turbulent

98. There Prevailed A WOEBEGONE Feeling In The Room .

(a) Sad

(b) Cheerful
(c) Gloomy
(d) Melancholy

99. .He Had A Robust Personality.

100. The entry was carried out INADVERTENTLY .
(a) Purposely



(b) Unintentionally
(c) Accidently
(d) Not noticing

STATIC SCIENCE :

101. On planet earth, there is no centrifugal force at the
YT ITE I IS ShealTH N Sl 7161 &

A. Equator $[HET Y@T
B. Tropic Of Cancer & I@T
C. Tropic Of Capricorn #& Y@T

D. Poles %‘q’
102. The current produced by upwelling of cold water off the coast of Chile

and Peru is known as 4T 3iR U% & de WX 32 96T & F9 36 A 3cTed
&TRT T gl AT &

(a) El Nino TeT &A=t

(b) Humboldt current gFsalec 8IRT

(c) Agulhas current 3TITeTaTd &RT

(d) Canary current ShaT{I &IRT

103. Rain shadow effect is associated with IST TRIT FHT9 frad T AT £7
(a) Cyclonic rainfall Tgrardr auT

(b) Orographic rainfall $flanfere asT

(c) Convectional rainfall Hagr auT



(d) Frontal rainfall 3731t a§T

104.The current produced by upwelling of cold water off the coast of Chi

el 31 U% & de U 32 UTell & FUX 3SeT A 3cTooT &RT Sl &gl ST &
(a) El Nino Te silair

(b) Humboldt current gFsalec 8RT

(c) Agulhas current 379[elgTH 8RT (d) Canary current heT<l EIRT

105. Which one among the following groups is referred to as types of

precipitation? fHFITITET FHGH # & & Ueh a1 a7 & Yeh & &9  SATaT
SATAT 87

(a) Fog, Dew and Rain &g, 309 31X aTier
(b) Air, Water and Soil &aT, 9r=ir 3iR AT

(c) Fog, Water and Rain 3IgT, 9reir 3T STier
(d) Dew, Soil and Rain 3113, fAedT 3R sTiRer

106. Mackerel sky is associated with cloud type Hoel 3T TGl ThR T
S &

(a) Cumulo-nimbus
(b) Strato-cumulus
(c) Alto-cumulus

(d) Cirro-cumulus



107. It is known that the atmosphere is divided into some layers. In which
one among the following layers, is the percentage composition of Hellum
gas maximum?

AT § o argAsS $o Wal & fasniord §| fFeafafad wdt # & feas
giferaesT 3t &1 ufdera e 3feha g2

(a) Troposphere &3 #3of (b) Stratosphere THAATIHS

(c) Exosphere sfgdasT

(d) lonosphere 3IAHS

108. Which one of the following is a warm ocean current? faFfai@a A &
hieT AT Teh ITH AGTATIRIT URT &7

(a) Labrador current oS8 &IRT

(b) Kuroshio current SIIdT &Rt

(c) Peru current 9% 9RT

(d) Benguela current SITET R

109. "Inversion of Rainfall" is associated with "asT ahT EchUT" fraa
Trafaa g?

(a) Orographic rainfall #ftanfore asT

(b) Convectional rainfall Gag=ir auT

(c) Cyclonic rainfall (Tropical) Tehardr auT (3SUTReTHIRT)
(d) Cyclonic rainfall (Temperate) Tsharcr auT (frdrsor)

110. Headquarters of the World Meteorological Organization is located in



faea Aige T HaresT 1 HEAToT FTIT§
(a) Washington

(b) Geneva

(c) Moscow

(d) London

111. Which one of the following ocean cur-rents is a cold current?

fArafaf@a Agrariiy Rt # & Sla-Hf v 33 aRT 872
(a) South Atlantic Drift Gf&I0T 3cerices a8

(b) Mozambique Current Ao TRT

(c) East Australian Current qdT 3if¥eforams amr

(d) Caribbean Current TSIt &RT

112. Arrange the following gases of the atmosphere in mcreasmg order by

volume: aFHSH HT fAFITATAT I GT T AT & ITAR Tocd e H
TaTeYd Y

1. Nitrogen

2. Oxygen

3. Carbon dioxide

4. Argon

@)1, 11, 1, IV
(b) I, 11, IV, 1l

() I, IV, 11, |



(d) IV, 1L, 11, 1

113. Consider the following Statement Is Correct: f[daR ¢ f&r Heafaf@a
AT LT &

Statement 1:- Ozone is a tri atomic molecule of oxygen. &UsT 1:- 3TSlleT
3HTerEiTSTeT ohl Teh FAURATIOGR 30T |

Statement 2:- O zone is concentrated mainly in stratosphere. ¥ 2:-

3SMT &I ®T  HAATT HSoT H e B

Which of the statements given above is/ are correct?
(a) 1 only

(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

114. Consider the following layers atmosphere: argHssT I fele=illi@d
9l R faar &

1. Troposphere 2NH FST

2. Stratosphere HATIHS

3. Mesosphere #ALTHS

4. Thermosphere AT ITHS

Which one among the following is the correct sequence of the layers with
increasing altitude from the Earth's surface?

fe=TTf@d & @ et A1 g2dl T Tlg & ol S5 o TTY TRl T Fel e
87

(a) 1-2-3-4

(b) 2-1-3-4

(c) 3-2-1-4

(d) 4-2-3-1



115. Which one of the following instruments is used for measuring the

humidity of the air? AT T AT AT o T fFF{afld & & fhg 3etoT
ol 3UT4T fehdT STl 87

A. Wind vane ard f&gageis

B. Aneroid barometer TeR15s SHICT

C. Wet and dry bulb thermometer 3fTelT 3R H@T Sod THTHIY

D. Maximum and minimum thermometer 3if&Iehcd 3R FgeTcH THTHIT
116. Krishna Raja Sagara Dam/Reservoir is developed on 0T ITSiT AR
aTeT ST faenfad fhar T g

(a) river Krishna SUTT 1GT

(b) river Tungabhadra qaTeTeT w1&r

(c) river Godavari INGraxy sTer
(d) river Kavery aTaxT der

117. Bagalihar, Dulhasti and Salal hydro power projects have been
developed on which of the following rivers? SaTTeIgIY, gelgEdl 3R Hellel STel
faegd TRATSTAT AT fEd & & fovdt 76T W faenfae &1 18 872

(a) Chenab and Jhelum fRame 3iR stas
(b) Chenab and Indus TreTTe 31X fawyy
(c) Ravi 3@

(d) Chenab only ddel R=TTE



118. Paradeep Port is located on the delta of river IRIETT §EI3Mg ¢l &
SecT W AT &

(a) Rihand R&g

(b) Ganga 33T

(c) Mahanadi #gTIGT
(d) Baitarani Saofr

119. Which one of the following rivers was earlier known as "Vitasta"?

frafaf@d & & @i &Y <7 ggel "Tadedr & a1 & it v 247?
(a) Tista Ta&dT

(b) Jhelum e

(c) Tungabhadra JTsTaT

(d) Brahmaputra SIS

120. Consider the following statements:

rafaf@a U=t 9T IR =1

1. The Sudden onset of Monsoon is called Burst of Monsoon. ATIgsT &l
37ITeTeh YE3TC hT ATAGT T FIEPIE FHaT STl &

2. The trade winds het bifurcated into Bay Of Bengal branch and Arabian
Sea brand because of the triangular shape of the Indian Peninsular.

HRAT UrIedrd o PRI MR o HROT a1 gaTv §emel i @rsr AR
3RS IR A fFmfaa g s

Which of the above statements is/are correct?



RIS H H hleT I/E HUAT T8l 872
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

121. Which of the following areas receives winter rainfall in India? 3IRd &

fArafaf@a & & v a1 7 Nasrela aut g §2

(a) North-west 3% gieaH

(b) North-east 3o qd

(c) South India gf&ToT IR

(d) None of the above 38 & HIs &Y 7TgY

122. Consider the following statements: f@&ITaf@d =T W IR

1. Jaisalmer receives about 900cm of annual rainfall. SFHAT H ST 900
AT g aut gy &

2. Mawsynram receives about 1140cm of annual rainfall.

ATTRATH H oF7979T 1140 QY aTi¥eh ot gl &

Which of the above statements is/are correct?

3UUFd H H i /A U T8l 6/87?

(a) 1 only



(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

123. Consider the following statements:

rafaf@a U=t 9T AR

1. Flash floods can never be observed in dry regions.

Sk &A1 H T A TG Hafl gt T ST Hehell

2. Brahmaputra valley and lower Ganga valley are mong the areas of
maximum flood frequency.

SEAYH TTET 3N Toerell a7am ey HTeehc# 916 ITgTT arel &7 &

Which of the above statements is/are correct?

IR 7§ il G/H HUA Tel 6/67?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

124. Consider the following statements about the EL Nino:

SUA &lell & aR # AFIfaf@d Sy ) fTar &1

1. It occurs every year.
Ig &Y AT BT &,



2. It I associated with development of a warm current along the Peru cost.

S8 H UF AT & fhelk Teh 31 STOTURT o fahrey & Sl €|

Which of the above statements is/are correct ?

IR H § i GI/E HYUT T 81 872
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

125. Which of the following code represents correct order of mountain
passes from west to east:

AT # & hieT &1 15 TlRTHA & qd I 3T I a3 o HET ha i
cRITar &

1. Shipki La fergehr &7
2. Pang sau d&sT €13
3. Nathu La &r &

4. Bomdi La STHST o
Code:

a)1,3,4,2
b)1,2,3,4

c) 1,4,3,2



d)4,3,2,1

126. Consider the following statements about the Satpura range: §d9sT
T Sl o IR A e Tl heil o faamr &

1. It is situated to the north of Vindhyan range.
g fAeg yaaaTar F 3o A *ua &

2. It is an example of block mountains.
Ig Sclich Iddl ol 3G1gI0T g |

3. The highest point of Satpura hills is found in the Mahadeo hills, near
Panchmarhi, at Dhoopgarh.

TAYST TBISAT T ITadH g HeIed TgIfsdl H, TaHel & 9Td, gl H qrr
ST & |

Which of the above statements is/ are correct?

IR 7 il G/H HYUA Tel 6/6 7
(@1,2,3

(b) 2 and 3 only

(c) 1 and 2 only

(d) 1 and 3 only

127. Consider the following statements: Il &T HUAT IR AR I

1. The Eastern Ghats is also known as Sahyadri.

qdt €1 Y A1 & A1 § oY ST ST §

2. Thalghat, Bhorghat and Palghat are important passes in Eastern Ghats.
YTeltTe, HETE 3R dTeTere qdi '1e H Hgeaqoi el &




Which of the above statements is/ are correct?

S H E hlsT HI/H YT Tl 6/67?

(@)1 only 4

(b) 2 only

(c) Bothe 1 and 2

(d) Neither 1 Nor 2

128. Consider the following statements: fAFITalf@d AT W IR F:

1. Lakshadweep is in the Bay of Bengal.
STATCdIY SaTTel T WISt H &

2. Lakshadweep is a coral island.

TeTedIY Ueh 3N cdld &

3. Andrott Island is the largest Island of Lakshadweep.

Ugle gdiT oT8TedIT ol TeY 937 &7 B

Which of the above statements is/are correct?

3GRAFT H I i AI/H HUA Tl 8/8?
(@1,2,3

b) 1 and 2 only

(c) 2 and 3 only

(d) 1 and 3 only

129. Winds blow: 41U JoldT &



(a) in regions of low pressure e GaTd dTel &13T &

(b) from a region of high pressure to a region of low pressure 3<d G&Td dTel
& A foeT SaTg arer 819 1 31X

(c) from a region of low pressure to a region of high pressure fae= gara &

&1 ¥ 3TJ Ga1d & &19 deh
(d) in regions of high pressure 3T &dTd aTel 81371 &

130. Which one of the following is not a correct example of tropical
cyclone?

fAFATITET # & Sl AT ISUTRICTHIT Tehald T TET 3GT80T A6l 872
(a) Tornadoes

(b) Typhoons

(b) Hurricanes

(c) Nor westers

131. Consider the following statements with reference to tornadoes: a3

& it # Ao @d T 9T AR 1

1. Tornadoes are smaller and more intense than hurricanes. S5 Tl &l

JoreT # 81 3R 31t Ny g &

2. Tornadoes are most abundant along the eastern coast of India.
Tornadoes are most abundant along the eastern coast of India.

3. The average tornado lasts for less than one hour. 3i9d 98X s €¢ &
i A AT Jh Ear gl




4. Tornadoes are most common in the afternoons in the early summer.

ITMHAT Y LBINA H STE o THYI AT Jod A g 8|
Which of these statements are correct?

(@a)1,3and 4

(b) 2,3 and 4

(c)1,2and 4

(d)1,2and 3

132. Which of the following statements is/are correct?

fArafaflad & & Fia aa w37 T g/e?
1. Cyclone is a low pressure system. Tshdld Teh fo1e<T GaTd YUTTel! &.

2. The wind movement is clockwise in the cyclone of northern hemisphere.

3 AT & TehdTd A &dT 1 31T efaruad giar &

Select the correct answer using the code given below:

oA fET 91T I T 3TN Fah HEY 3T ol
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

133. The Tornadoes are very strong tropical cyclones originating in:



(a) Caribbean Sea eIt ATR H
(b) China Sea e IR H

(c) Arabian Sea 3R« TR &

(d) Black Sea 2I1eT I9R &

134. Which one among the following statements relating to an anticyclone

is correct? Uiadshard & oY # Aafai@a & O =i 91 U g g2

(a) Anticyclone is a wind system with a high pressure centre Sfa<dshard Teh

3T 419 ohg dTell UdeT JUTToIT §

(b) In anticyclone the movement of wind is inward Ffcrashard & arg T T
Heed T N AT &

(c) The contribution of an anticyclone towards determining weather of an
area is quite significant fhaT &1 & FHiGa & FUTRT =t 7 gfcashard r
TIITETeT hIhT AgeaquT &I &

(d) The movement of wind is clockwise in an anticyclone of southern

hemisphere ET&IofT ateme! & Yfaashard & gar 1 J1fd glaTomad gl &

135. Which of the following scales is used to measure the damage by a
hurricane?

fe=T ArTent 7 | gReheT GarT 817 & ATYT & TAT fraEent 39Ner fhar Sirar
g7

(a) Saffir-Simpson Scale
(b) Mercalli Scale

(c) Fujita Scale



(d) Richter scale

136. What is the general direction of cyclone formed in the bay of bengal?
S9TTeT hT WTST H JaTet dTel TehdTd ahl AT 21T T gl 7

A. East To West 9d & ai=rH

B. West To East 9i9H & 4

C. West To South Ifae & gfator

D. North To South 3T & gfeyor

137. Which of the following statements regarding hurricanes is/are correct?
1. They develop over the ocean between 8°-15° N.

2. They are almost absent in the South Atlantic Ocean.
3. They do not develop close to the equator.

Select the correct answer using the code given below,
(a) 1 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

138. Consider the following statements about the Peninsular Rivers:

TR Afgat & TR F Aefai@d HY« W GaR ¥



1. Most of the Peninsular River flow westward. 31f&eTer Sraedidig afear
qfReH & 3T TEh & |

2. They are seasonal. @ HigT §.

3. They are much older than the Himalayas rivers. & fg#Terd T afeat & oft
g A &

4. These river form meanders.

A AT GATIER A SATcl &

Which of the above statements is/are correct?

IR H § il G/H HYA Fel 6/6?
(@1,2,3,4

(b) 2 and 3 only

(c) 1,2, 3 only

(d) 1, 2, 4 only

139. Which of the following rivers is Tsangpo in Tibet.
fArATaf@d # @ i G 71¢T [dsaa & |rerdr g2

(a) Ganga 19T

(b) Brahmaputra sieHIS
(c) Indus f&E

(d) Yamuna =TT

140. Consider the following statements about the Sutluj River:

Helolol AT & aR H AT & Y= ) R X



1. The source of the Sutluj is near Lake Rakshastal near Mansarover in
Tibet.
HcTo[oT ol 363TH Tolealdd 7 AR & foiehe M&THAT Siiel o Te §

2. It passes through Shipki La pass, entering India in Himachal Pradesh.

g g o1 e¥ O gla R 9 H ART & 93l Har g

Which of the above statements is/are correct?

3UUFd H H i A/ FAT Tl 6l 872

(a) 1 only
(b) 2 only

(c)Both1 & 2
(d) Neither 1 nor 2

141. Which of the following rivers is not included in the Indus River system

FrATa R & & e d a8 ey ) yoreh 3 anfare et §2
(a) Jhelum 3Tel#

(b) Sutlej ST

(c) Ravi I

(d) Gandak 35

142. Little Andaman is separated from the Great Andaman by.

fafes 3saTa &Y A ISAHTT @ 37197 fohaT ST B

a) 10-degree Channel 10-f33ft el

b) Palk strait 9Teh STelSH®HEY



c) Duncan Passage SasT HTIT

d) None of the above 378 & 15 Y =1gT

143. Which state is in the eastern most part of India ?

HR & FaH gl $I19T A hled AT AT 672
A). Assam

B). Nagaland

C). Arunachal Pradesh

D). Manipur

144. The States of India having common border with Myanmar are:
FITAR o TTYT TSI JIAT dlel AR & T ¢

A). Mizoram, Manipur, Nagaland, Arunachal Pradesh
B). Mizoram, Tripura, Meghalaya, Assam

C). Mizoram, Manipur, Tripura, Meghalaya

D). Assam, Manipur, Tripura, Arunachal Pradesh

145. The States which have common borders with China are:

I T TR AT A F AT A= T &

1. Jammu and Kashmir
2. Sikkim

3. Arunachal Pradesh
4. Himachal Pradesh



A). 2,3 and 4
B).1,2and 3
C).1and 3

D). 1,2,3and 4

146. Consider the following statements:

AFafaf@d H2U=t 9 TR =

1. Barren Island is the northern-most island of the Andman and Nicobar
Island group.

T &dd 37SAT 3R AR ediT Hefg 1 a8 3 ¢l & |

2. Saddle peak, located in the North Andaman is the highest peak of
Andaman group Islands.

3 37 AT # TEUd Aol Uleh 3SAT HAg cdlT Hefg ol Had St AT g

Which of the above statements is/are correct?

39T H Y i HI/H HUT TeI gl 87
(a) 1 only

(b) 2 only

(c) Both 1 & 2

(d) Neither 1 nor 2

147. The States of India having common border with Myanmar are:
FITAR o TTYT TSI JIAT dTel IR & T ¢

A). Mizoram, Manipur, Nagaland, Arunachal Pradesh



B). Mizoram, Tripura, Meghalaya, Assam
C). Mizoram, Manipur, Tripura, Meghalaya
D). Assam, Manipur, Tripura, Arunachal Pradesh

148. West Bengal shares boundaries with how many foreign countries ?

9TIH ST hl HIAT fohdel facelr it & a1 rerddt 872
A). One

B). Two

C). Three

D). Four

149. In the decreasing order of the length of the rivers, the correct
sequence is :

AlCAT FT IS F gecd A H TG hH &

A). Brahmaputra-Ganga-Godavari-Narmada SEHYT-IET-3Nerail-TaeT

B). Ganga-Godavari-Brahmaputra-Narmada ?W-?ﬂaaﬂ-w-o‘-lﬁa

C). Brahmaputra-Narmada-Godavari-Ganga SEHY-ATHal-NGrad1-a1am
D). Ganga-Brahmaputra-Godavari-Narmada 31aT-seAq-Merady-=er

150. The river Cauvery originates from which of the following states ?

HTA AET [AFATATET H E Tohd T  Aheldl 87
A). Andhra Pradesh

B). Tamil Nadu



C). Karnataka

D). Madhya Pradesh
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